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% 3 7 I i#EE AL EF R S (G RIE)
OB L — b (1K)

TEr2e) X5 %E (GM6EAH1IENSSMTESHSIHET) ICAREUET) LA XIIREUET)
T RIABDE ., TBERE] (XREE (5F64E3H31H) £TICEEWET) LEETH D,

(ZBFE10ALLE]
R = = 1
TRE | OE R AR | ZREK| OB AR |2RE k| atkE K| Ak
HHBER AL L Y (N E AR 40 40[ 100.0 40 40| 100.0 0 0 0.0
E X PN 29 29 100.0 29 29| 100.0 0 0 0.0
WIERT 29 29| 100.0 29 29| 100.0 0 0 0.0
IR57 BR F R 28 28 100.0 28 28| 100.0 0 0 0.0
T VT 7 SRR AL R AR 26 26| 100.0 26 26| 100.0 0 0 0.0
FALRAER T 26 26| 100.0 26 26| 100.0 0 0 0.0
SRR 25 25 100.0 25 25 100.0 0 0 0.0
RN TR NS 23 23 100.0 23 23 100.0 0 0 0.0
T NR I PNES 21 21| 100.0 20 20| 100.0 1 1| 100.0
AN R 20 20| 100.0 20 20| 100.0 0 0 0.0
(EPAMIN S R A i 20 20( 100.0 20 20[ 100.0 0 0 0.0
AL SO R R 20 20( 100.0 20 20( 100.0 0 0 0.0
e i B A FLE R 19 19| 100.0 19 19| 100.0 0 0 0.0
AL E AT AR AR 19 19| 100.0 19 19| 100.0 0 0 0.0
IR BRI (AR AR SR 18 18| 100.0 18 18| 100.0 0 0 0.0
B VAN 7 —RF S AL T s 18 18| 100.0 18 18| 100.0 0 0 0.0
K A R 17 17| 100.0 17 17| 100.0 0 0 0.0
B (ST BB 7 A B —) 17 17| 100.0 17 17| 100.0 0 0 0.0
A R 17 17| 100.0 17 17| 100.0 0 0 0.0
R B LA AL R AR 17 17| 100.0 17 17| 100.0 0 0 0.0
BAVE “ A = AR k2 e 16 16/ 100.0 16 16| 100.0 0 0 0.0
PP - K 16 16/ 100.0 16 16| 100.0 0 0 0.0
FLIGRE = B T AR AL B P AR 16 16/ 100.0 16 16| 100.0 0 0 0.0
[ EES A NE S 8 NE 16 16| 100.0 16 16| 100.0 0 0 0.0
B IR A L Y BT A 16 16| 100.0 16 16| 100.0 0 0 0.0
BRI AR AR 16 16| 100.0 15 15| 100.0 1 1| 100.0
s AT AR A R P AR 15 15| 100.0 15 15| 100.0 0 0 0.0
BB L - (R R RE gL 15 15| 100.0 15 15| 100.0 0 0 0.0
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R " T -

TRE | OME | O | ZRER| OB AR |ZhE k| atkE | Ak
EEN T wNES 15 15| 100.0 15 15| 100.0 0 0 0.0
IGL R AR P % 14 14| 100.0 14 14| 100.0 0 0 0.0
MC LIz [ E SRR fE AR — > # P 2 14 14| 100.0 14 14| 100.0 0 0 0.0
)R = 3 3R 27 14 14| 100.0 13 13| 100.0 1 1| 100.0
filla R 14 14| 100.0 14 14| 100.0 0 0 0.0
FR Nl NG 14 14| 100.0 14 14| 100.0 0 0 0.0
[E{Ea SN 14 14| 100.0 14 14| 100.0 0 0 0.0
I VANT 7— K7 13 13| 100.0 13 13| 100.0 0 0 0.0
HBUR B R 13 13| 100.0 13 13| 100.0 0 0 0.0
HBE RS 13 13| 100.0 13 13| 100.0 0 0 0.0
KB B A e Ak & T TREFH AR 12 12| 100.0 12 12| 100.0 0 0 0.0
SR LR 12 12| 100.0 12 12| 100.0 0 0 0.0
PRZR) | AR AL B Y A 12 12| 100.0 11 11| 100.0 1 1| 100.0
S SN S 12 12| 100.0 12 12| 100.0 0 0 0.0
i R 12 12| 100.0 12 12| 100.0 0 0 0.0
EA - Ly h NS 12 12| 100.0 12 12| 100.0 0 0 0.0
B AR ARk AL R 12 12| 100.0 12 12| 100.0 0 0 0.0
IS NS 12 12| 100.0 12 12| 100.0 0 0 0.0
KB E Rk B P AR 11 11| 100.0 11 11| 100.0 0 0 0.0
Bl R AL SR (R AR AR 11 11| 100.0 11 11| 100.0 0 0 0.0
RIREFEARALTR P AR 10 10| 100.0 10 10| 100.0 0 0 0.0
LAHADAFER 10 10| 100.0 10 10| 100.0 0 0 0.0
ERRZES @y 10 10| 100.0 10 10| 100.0 0 0 0.0
RFZE « BRI B 2 10 10| 100.0 10 10| 100.0 0 0 0.0
CINHIIES S Y i NE =y Th - NE 10 10| 100.0 10 10| 100.0 0 0 0.0
INSB'E . ONES 10 10| 100.0 10 10| 100.0 0 0 0.0
TS E 1 AR L P A 38 37 974 38 37| 97.4 0 0 0.0
BB AR P P 28 27| 96.4 27 26| 96.3 1 1| 100.0
LA idr: 2e e o 27 26|  96.3 26 26| 100.0 1 0 0.0
FH (5=l  A17 7 l R 23 22| 95.7 20 20| 100.0 3 2| 66.7
A ] [ 00 B AR AL R P AR 22 21| 95.5 22 21| 95.5 0 0 0.0
R E RN A 21 20 95.2 21 20/ 95.2 0 0 0.0

(29~60#%)




Sk ___ Mzﬂz _ %ﬁi __ %%,

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
RIFFHELAE B EF AL T PR 1115 21 20 95.2 21 20 95.2 0 0 0.0
HNEIEZ E BB HER P 22 21 20 95.2 20 20| 100.0 1 0 0.0
B LR 21 20|  95.2 21 20|  95.2 0 0 0.0
IRV [EBR R 20 19| 95.0 19 19| 100.0 1 0 0.0
BTSSR NS 19 18| 94.7 19 18] 94.7 0 0 0.0
RELZFRY 18 17| 94.4 18 17 94.4 0 0 0.0
B ER 18 17| 94.4 17 16| 94.1 1 1| 100.0
R JE P P AR A B P AR K B e 33 311 93.9 30 30/ 100.0 3 1| 333
RINE AL AR 16 15| 93.8 16 15|  93.8 0 0 0.0
JEE I 5 PR R A R P AR 16 15|  93.8 15 14| 93.3 1 1| 100.0
JUM KA ST RS (I RHMF AL ) 16 15 93.8 16 15 93.8 0 0 0.0
FLIR = - B AR ok ol Bk B P A 15 14| 93.3 15 14| 93.3 0 0 0.0
NS R RS A i 44 41| 93.2 42 41| 97.6 2 0 0.0
FURB AL B A 28 26| 92.9 26 26| 100.0 2 0 0.0
[ R 13 12| 92.3 12 12| 100.0 1 0 0.0
JefEe Y R Atk R AR 13 12| 92.3 13 12| 92.3 0 0 0.0
PR PR A B P R A 36 33| 91.7 34 33 97.1 2 0 0.0
RIFA 3 R ik = P P A TR AR 12 11| 91.7 12 11| 917 0 0 0.0
R/ Rt s 2 ) A 12 11| 91.7 12 1| 917 0 0 0.0
(O skl TP NE TR b NE 12 11 91.7 11 11| 100.0 1 0 0.0
il R R AL & T T P 2A% 23 21| 91.3 23 21| 91.3 0 0 0.0
weoe B LR AL P A 34 31 91.2 29 26| 89.7 5 5/ 100.0
TR 7SR AR 22 20[  90.9 20 19/  95.0 2 1| 50.0
JE I I8 2 - R R 11 10| 90.9 10 10| 100.0 1 0 0.0
RN FNE T NG 11 10| 90.9 10 10| 100.0 1 0 0.0
N =T AL v P R E R R AL P 32 29| 90.6 32 29| 90.6 0 0 0.0
INUUNLEEEINES 21 19/  90.5 18 18| 100.0 3 1| 333
R 8 4 6 Ak B P 2 T AR 30 27 90.0 29 26|  89.7 1 1| 100.0
TR T 57— B AR 10 9]  90.0 8 8| 100.0 2 1|  50.0
AL PR 2= P8 55 FH A5 10 9  90.0 9 9| 100.0 1 0 0.0
Rl E R 10 9  90.0 10 9  90.0 0 0 0.0
FEK LY MCAE BEfE HERE P 7 29 26| 89.7 26 25| 96.2 3 1| 333

(61~924%)
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TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
JR e @A R A 19 17| 89.5 18 17| 94.4 1 0 0.0
BEEGYMCA E Bk 55 2 19 17| 89.5 16 16| 100.0 3 1| 333
FITAR A AR H P s 19 17| 89.5 18 17| 94.4 1 0 0.0
PRRA: B A A & 1 T FE Y 22 AR S () S ) 36 32 88.9 31 29 93.5 5 3 60.0
FUN I AT — a2 18 16| 88.9 17 16|  94.1 1 0 0.0
R SUHMPR 18 16| 88.9 17 16| 94.1 1 0 0.0
BRI AL S P AL 18 16| 88.9 18 16| 88.9 0 0 0.0
] L P2 A kB P A 52 46| 88.5 50 46| 92.0 2 0 0.0
YICH Mm% 26 23| 88.5 24 22| 91.7 2 1| 50.0
Sl e iR A i 17 15| 88.2 15 15| 100.0 2 0 0.0
THEE =R A RSP A 42 37| 88.1 37 35| 94.6 5 2| 40.0
Gipnt TR i 25 22| 88.0 21 21| 100.0 4 1| 25.0
HH S AL v — 2 L B 2R 24 21|  87.5 23 21| 91.3 1 0 0.0
SRR AL B P A 24 21|  87.5 21 20/ 95.2 3 1| 333
i ] LR 16 14| 87.5 15 14| 933 1 0 0.0
Lo ik B s 16 14| 875 16 14| 875 0 0 0.0
DU ] 2 3 At - B A 22 19| 86.4 19 18| 94.7 3 1| 333
BHERFIL BB ukEE M AR 35 30| 85.7 31 28] 90.3 4 2| 50.0
B LR e A 2B P A 28 24|  85.7 25 24| 96.0 3 0 0.0
JE B kR P AR 21 18| 85.7 21 18|  85.7 0 0 0.0
) R HERE P A% 34 29| 85.3 31 29|  93.5 3 0 0.0
TV I 8 2 el 0 K 27 23|  85.2 26 23|  88.5 1 0 0.0
B~ — S AN A AR R A 20 17| 85.0 18 17| 94.4 2 0 0.0
PN NES 19 16| 84.2 17 15| 88.2 2 1| 50.0
ALY MCA R @ AL P R 31 26|  83.9 26 25| 96.2 5 1| 20.0
IR Tl 2 I 7 5 P R e 24 20/ 83.3 22 20/ 90.9 2 0 0.0
4 ity SR R AL EARAE & I T B 4% 24 20/ 83.3 20 19|  95.0 4 1l 25.0
IBIESpNES 53 i NE S 18 15| 83.3 14 13| 92.9 4 2| 50.0
HP R Ll [ R R P AR 23 19| 82.6 18 18| 100.0 5 1l 20.0
O[] " R B PR A% 16 13| 81.3 13 13| 100.0 3 0 0.0
AV S ¥ Ty N TR - N 21 17| 81.0 19 17| 89.5 2 0 0.0
R B A LR A R AR 26 21| 80.8 24 20/ 83.3 2 1| 50.0

(93~124)




Sk __ fw;ﬂz _ %ﬁi _ &fé

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
IS NE S TN 62 50  80.6 56 50  89.3 6 0 0.0
AT AR AE R P AR 31 25| 80.6 30 25| 83.3 1 0 0.0
W] AR AL OR 5 B e 31 25| 80.6 26 23| 88.5 5 2| 40.0
H AR AR R k= PR s 36 29|  80.6 32 29| 90.6 4 0 0.0
I\ R SR 7D 36 29| 80.6 35 29| 82.9 1 0 0.0
AR SRR AL R P AR 30 24/ 80.0 25 22| 88.0 5 2| 40.0
NI =T A AL VI o P A 5 P 2 49 39| 79.6 46 38|  82.6 3 1| 33.3
PP T Y A 52 411 78.8 43 41| 95.3 9 0 0.0
HOR AR R AR B B AL 46 36| 78.3 38 34| 89.5 8 2| 25.0
ZEEUNE YT — L al R B AR 36 28| 778 31 28] 90.3 5 0 0.0
RN 18 14| 77.8 16 14| 87.5 2 0 0.0
<HLERR B AL AR 26 20( 76.9 23 20|  87.0 3 0 0.0
Ve IR AT M B R 50 13 10|  76.9 13 10| 76.9 0 0 0.0
JBLJ I SHE I A B P 2 75 3 13 82 17 13| 76.5 14 13| 92.9 3 0 0.0
B (e R AL oY 17 13| 76.5 14 11| 78.6 3 2| 66.7
e FR ] B b = P s 33 25| 75.8 27 25| 92.6 6 0 0.0
(RN IPNE S 52 PN =l 48 36|  75.0 38 35 92.1 10 1| 10.0
FKRL [/ R AE280E B A 32 24 75.0 27 24| 88.9 5 0 0.0
T Bt AR P AR 15 11| 73.3 12 1| 917 3 0 0.0
FFLF F S RC R AR A B P AR 22 16| 72.7 18 15| 83.3 4 1| 25.0
RIFUR T 2 A A B P 2 R i) s 46 33 717 36 32| 88.9 10 1| 10.0
Ve I L R 42 30 71.4 33 28|  84.8 9 2| 22.2
AR HERT Y A 14 10| 71.4 9 9| 100.0 5 1l 20.0
H AAEHEEE P AL 55 39 70.9 46 37| 80.4 9 2| 22.2
JEB I I [ PR O B AR 10 7| 70.0 7 6| 85.7 3 1| 333
TR AT AR AR AR 10 71 70.0 8 7| 875 2 0 0.0
L5 B A AR 62 43| 69.4 52 42| 80.8 10 1| 10.0
7 — VIR LR P AL 26 18]  69.2 20 15| 75.0 6 3] 50.0
DAATRAEAEER P AR 13 9] 69.2 10 9  90.0 3 0 0.0
WA SR ik B P 224 16 11| 68.8 16 11| 68.8 0 0 0.0
B4 ik B P A5 50 34|  68.0 44 31| 70.5 6 3] 50.0
TN E R B0 O R BT 548 75 50|  66.7 57 47| 82.5 18 3| 16.7
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TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
FAVEAR AL T P A% 45 30  66.7 34 29|  85.3 11 1 9.1
TR A AR B B P A% 18 12| 66.7 12 1| 91.7 6 1| 16.7
P Ly VIE B R AR AL B AL 45 29| 64.4 31 23| 74.2 14 6| 42.9
BERS /S — 2 KSR SR (I a2 28 18| 64.3 20 16|  80.0 8 2| 25.0
B S R LY 14 9] 64.3 11 7| 63.6 3 2| 66.7
PR BEREAR R 11 7| 63.6 7 7| 100.0 4 0 0.0
R IR - &G BT 24 19 12|  63.2 13 10| 76.9 6 2| 33.3
HUWHIEAEE R A 65 411 63.1 56 39|  69.6 9 2| 222
1] JE = R A Ak R P s 35 22| 62.9 25 22| 88.0 10 0 0.0
KRB Y ANBU IR 64 40|  62.5 64 40|  62.5 0 0 0.0
L R SRR AL B PR AR P R IR 32 20|  62.5 32 20|  62.5 0 0 0.0
MR NEY T — T a kb 26 16| 61.5 16 15 93.8 10 1l 10.0
F [ SR LR P AR 18 11| 61.1 13 11| 84.6 5 0 0.0
IR HE LA 1 2 (i) 23 14| 60.9 21 14| 66.7 2 0 0.0
Hde AR R R P AR 33 20|  60.6 30 20|  66.7 3 0 0.0
B FARAL R 5 1 BT B R 35 211 60.0 26 21| 80.8 9 0 0.0
EIRE Y X ABUCRALE T AR 25 15| 60.0 18 13| 722 7 2| 28.6
PR E R AL E R L Y 20 12| 60.0 18 11| 611 2 1| 50.0
HLN B R 15 9/ 60.0 9 9| 100.0 6 0 0.0
BA VG st kP A 71 42| 59.2 59 38| 64.4 12 4| 33.3
el R 451 R 22 13| 59.1 18 13| 72.2 4 0 0.0
A AL AR S 2 (3 ) 12 7| 58.3 9 6| 66.7 3 1| 333
KBt SR AL P AR 86 50 58.1 55 44| 80.0 31 6| 19.4
S [if] S AR L R P AR 38 22 57.9 29 21| 724 9 1l 111
i He IR R AR AL B PR R 28 16/ 57.1 20 16/  80.0 8 0 0.0
FZEL@akaL -~y 32 18|  56.3 30 18| 60.0 2 0 0.0
SR HEREF S (St 24 ) 59 33| 55.9 41 32| 78.0 18 1 5.6
S o T B R L B P AR 11 6| 54.5 7 5/ 71.4 4 1l 25.0
RN ] [ T AL B P A 39 21|  53.8 25 21| 84.0 14 0 0.0
R R 22 e A L B B 2 A A 32 17| 53.1 17 12| 70.6 15 5/ 33.3
R T P AR 48 25 52.1 38 23| 60.5 10 2| 20.0
FOR LR B BT AR 25 13| 52.0 15 12| 80.0 10 1| 10.0
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Sk __ Mﬁz _ %ﬁi __ @fé

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
YMCA i He b P 22 31 16| 51.6 18 14| 778 13 2| 15.4
e F LI R 52 26| 50.0 30 25| 83.3 22 1 4.5
SRR W B A B LT 32 16| 50.0 25 16|  64.0 7 0 0.0
TS R kP A% 19 9| 47.4 10 8|  80.0 9 1| 111
AR e Ak B P A3 34 16| 47.1 23 14|  60.9 11 2| 18.2
(IR PSRN R e AR 2y 26 12| 46.2 14 12| 85.7 12 0 0.0
BRI ST A AR L Y 76 33| 43.4 62 32| 51.6 14 1 7.1
FHRER KT 26 11| 423 20 9|  45.0 6 2| 33.3
ZZAERAEAE R F FAL B IR 34 14| 41.2 29 13| 44.8 5 1l 20.0
SLEEALF PR 15 6| 40.0 7 3| 42.9 8 3| 375
AR v = BEIRE AR R 46 18| 39.1 31 18| 58.1 15 0 0.0
HF SR AR PP 28 10 35.7 15 9|  60.0 13 1 7.7
INUSHIIPNES 31 11| 355 31 11 355 0 0 0.0
B RIS B R P 22 AR 18 6| 33.3 10 4] 40.0 8 2| 25.0
T A SR AE R P AR 82 27| 32.9 55 24| 43.6 27 31 11.1
T Ltk B A 62 20 32.3 47 18| 38.3 15 2| 13.3
OUET VT EALE AR 41 13| 31.7 40 13| 32,5 1 0 0.0
7= B AR kR e 68 211 30.9 52 21| 40.4 16 0 0.0
BREEI R IRE O R A A 34 10 294 29 10| 34.5 5 0 0.0
FUEBY MCA [E Bt fik 55 P 55 17 5/ 29.4 10 5/ 50.0 7 0 0.0
H R LR T R B AR 31 9]  29.0 22 7| 318 9 2| 22.2
(iGN R NES 83 23| 27.7 52 19|  36.5 31 4 12.9
ZIAEFRE AT AR 48 13| 27.1 36 13| 36.1 12 0 0.0
T T BBARAE Z YT A B 15 4| 26.7 15 4] 26.7 0 0 0.0
ES=EPI R S Al E S5 19 5/ 26.3 8 5/ 62.5 11 0 0.0
WWNTONES 58 i NE S 68 17| 25.0 44 17| 38.6 24 0 0.0
FHRER R L Y O itk SRR 56 14| 25.0 52 13| 25.0 4 1l 25.0
PN GREs AR A i 59 14| 23.7 53 13| 245 6 1| 16.7
TN BEIRAR — > B A% 108 25 23.1 25 18| 72.0 83 7 8.4
AT 4 AT — [ FR A AL P A 62 14|  22.6 30 9]  30.0 32 5/ 15.6
I AR AR B P AR 40 9| 22,5 16 9| 56.3 24 0 0.0
KRR 2 =T 4T — T — B R 55 12| 218 40 10 25.0 15 2| 13.3
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TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
BB E R R AL L Y 42 9| 21.4 29 9 31.0 13 0 0.0
B8 B kB P A 47 10 21.3 14 7| 50.0 33 3 9.1
R K7 10 2| 20.0 2 2| 100.0 8 0 0.0
AOTEBR AL A% 67 11| 16.4 56 9| 16.1 11 2| 18.2
A 1L 2 49 8| 16.3 20 4 20.0 29 4| 138
T T REMETFRL 43 71 16.3 29 5/ 17.2 14 2| 143
VU B ik R P s 66 10| 15.2 32 8| 25.0 34 2 5.9
AR SR AL R P AR 41 5| 12.2 34 4 11.8 7 1| 14.3
LD EFAE AT P 30 3| 10.0 27 31 111 3 0 0.0
VENIO VA SR YN 11 1 9.1 2 0 0.0 9 1| 11.1
HAZ &b Am R 224 32 2 6.3 29 2 6.9 3 0 0.0
B EEREEY 2N T =R — 27 1 3.7 0 0 0.0 27 1 3.7

(221~232%)




(B2 BE 10 AK)

e " T -

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
RJF R S 2R B AL P L b 9 9| 100.0 9 9| 100.0 0 0 0.0
FRZR) | VRS PR AR AR R 7 9 9| 100.0 9 9| 100.0 0 0 0.0
At B ARt kB P A 9 9| 100.0 9 9| 100.0 0 0 0.0
+ 3R 2R 9 9| 100.0 9 9| 100.0 0 0 0.0
H A SR RY 9 9| 100.0 9 9| 100.0 0 0 0.0
JE IR S IR 8 8| 100.0 8 8| 100.0 0 0 0.0
B LA R 8 8| 100.0 8 8| 100.0 0 0 0.0
BN AR — = @ AL B A 7 7| 100.0 7 7| 100.0 0 0 0.0
BEaT Loy 7 7| 100.0 7 7| 100.0 0 0 0.0
FelRpfli 0K 7 7| 100.0 7 7| 100.0 0 0 0.0
PSR T 7 7| 100.0 7 7| 100.0 0 0 0.0
i LSRR 7 7| 100.0 7 7| 100.0 0 0 0.0
EERFRH R 7 7| 100.0 7 7| 100.0 0 0 0.0
YMCAK - AL P A% 7 7| 100.0 7 7| 100.0 0 0 0.0
KIFAR— R B AL 54 6 6| 100.0 6 6| 100.0 0 0 0.0
BRI R AR K% 6 6| 100.0 6 6| 100.0 0 0 0.0
BRI B Rk Y 6 6| 100.0 6 6| 100.0 0 0 0.0
FEHE Lo 7R 6 6| 100.0 6 6| 100.0 0 0 0.0
HHH)F KT 6 6| 100.0 6 6| 100.0 0 0 0.0
LS R A i 6 6| 100.0 6 6| 100.0 0 0 0.0
OSJELIpINT T AT — )1 5 5/ 100.0 5 5| 100.0 0 0 0.0
HERT 5 5| 100.0 5 5/ 100.0 0 0 0.0
LI AR R R Y AR 5 5| 100.0 5 5| 100.0 0 0 0.0
TEE L7 [ PR B AR AL R P R 5 5/ 100.0 5 5/ 100.0 0 0 0.0
JEFIRA: 5 5/ 100.0 5 5| 100.0 0 0 0.0
JbifgE =R KT 5 5| 100.0 5 5| 100.0 0 0 0.0
19 U7 EFRAR AL A 4 4| 100.0 4 4| 100.0 0 0 0.0
JUM BEIRRL K7 4 4| 100.0 4 4| 100.0 0 0 0.0
EMESP SR pNE S 4 4| 100.0 4 4| 100.0 0 0 0.0
FALSA b B P A 4 4| 100.0 4 4| 100.0 0 0 0.0
CINFSE i NES 4 4| 100.0 4 4| 100.0 0 0 0.0
LB IR NT R 4 4| 100.0 4 4] 100.0 0 0 0.0

(1~32%)




R " T -

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
AR R R 3 3| 100.0 3 3| 100.0 0 0 0.0
UM B AL R 2 2| 100.0 2 2| 100.0 0 0 0.0
FR - ] 4R 2 2| 100.0 2 2| 100.0 0 0 0.0
bl o N 2 2| 100.0 2 2| 100.0 0 0 0.0
BT 2R PRI R 75 1 1| 100.0 0 0 0.0 1 1| 100.0
JRAE EFR AR & PR B E M @A (V=2 VD — T — ) 1 1 100.0 0 0 0.0 1 1 100.0
] B 125 P A R P AR B AR 1 1| 100.0 0 0 0.0 1 1| 100.0
FLMSE e Ak = SR P 22 AR 1 1| 100.0 0 0 0.0 1 1| 100.0
IRAE R PR R 1 1| 100.0 0 0 0.0 1 1| 100.0
et a =g IR A i 1 1| 100.0 0 0 0.0 1 1| 100.0
HRD [ e R 1 1| 100.0 0 0 0.0 1 1| 100.0
HOR [E B R R P AR 1 1| 100.0 0 0 0.0 1 1| 100.0
R IR ik B A% 1 1| 100.0 0 0 0.0 1 1| 100.0
R ] A R P A 1 1| 100.0 1 1| 100.0 0 0 0.0
RIRALVE T 7 57 P A 9 8| 88.9 8 8| 100.0 1 0 0.0
BN N 8 7| 87.5 7 7| 100.0 1 0 0.0
RB L 25~ R 8 71 875 7 7| 100.0 1 0 0.0
R PR Ak - R B R (e ik A 8 7 87.5 0 0 100.0 2 1 50.0
HARH ORI 7 6| 85.7 6 6| 100.0 1 0 0.0
KRBT R 5 Gluldeid A SRR AL 7 6 85.7 7 6 85.7 0 0 0.0
RES R uE TP 2 7 6| 85.7 7 6| 85.7 0 0 0.0
TR E IR 6 5/ 83.3 6 5/ 83.3 0 0 0.0
K H AT R P AR 6 5/ 83.3 6 5/ 83.3 0 0 0.0
ENES) e e S R NS 6 5/ 83.3 5 5| 100.0 1 0 0.0
HBOUERALF 5P 5 4| 80.0 4 4| 100.0 1 0 0.0
L g A E i 5 4| 80.0 5 4| 80.0 0 0 0.0
PN R AR R A i 9 71 77.8 7 6| 85.7 2 1| 50.0
AR R 8 6| 75.0 8 6| 75.0 0 0 0.0
EBE IR T M P 8 6| 75.0 6 5/ 83.3 2 1l 50.0
AEHEE R AEECE B AL 8 6| 75.0 7 6| 85.7 1 0 0.0
B AR I P AR 4 3| 75.0 3 3| 100.0 1 0 0.0
RN ER L vy 7 5| 71.4 5 5/ 100.0 2 0 0.0

(33~641%)




Sk __ Mﬂz _ %ﬁi __ %%,

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
HORK R F @ AL & TR A% 9 6| 66.7 9 6| 66.7 0 0 0.0
HARITE Y RATL v 6 4] 66.7 4 3 75.0 2 1l 50.0
TR R PR R 3 2| 66.7 0 0 0.0 3 2| 66.7
7% BRI R T 3 2| 66.7 2 2| 100.0 1 0 0.0
EANEH AR —Y EREEH R 3 2| 66.7 3 2| 66.7 0 0 0.0
Vel B AR R 7 4 57.1 4 3| 75.0 3 1| 333
HOE AR AR T 9 5| 55.6 9 5/ 55.6 0 0 0.0
i P R AR AR B R AR 2 1| 50.0 2 1| 50.0 0 0 0.0
ka7 vy 2 1| 50.0 1 1| 100.0 1 0 0.0
Y ANE YT — 3 AF Ak P e 5 2| 40.0 0 0 0.0 5 2| 40.0
B Rl 6 2| 33.3 2 2| 100.0 4 0 0.0
FEE AR AL P AR 3 1| 333 0 0 0.0 3 1| 333
HHAREFRR S 3 1| 333 2 1| 50.0 1 0 0.0
8, = PR Al o P A 5 1| 20.0 0 0 0.0 5 1| 20.0
B S A AR E SR AR L vy 5 1| 20.0 0 0 0.0 5 1| 20.0
G NS 5 0 0.0 5 0 0.0 0 0 0.0
FAVE IR B @Ak B P AR 4 0 0.0 0 0 0.0 4 0 0.0
JUM R FLHAR T (R k) 4 0 0.0 0 0 0.0 4 0 0.0
AN H T R T R P AR 4 0 0.0 0 0 0.0 4 0 0.0
B 2R Y — A VIR 3 0 0.0 0 0 0.0 3 0 0.0
FERS /= AR EAR LR P A (AR kR 2 0 0.0 0 0 0.0 2 0 0.0
Lz r SR B RS 2 0 0.0 0 0 0.0 2 0 0.0
T FH A8 kB P A 2 0 0.0 0 0 0.0 2 0 0.0
SR HEREF A (St 34 ) 2 0 0.0 0 0 0.0 2 0 0.0
KW HERE AR 27 (st ) 1 0 0.0 0 0 0.0 1 0 0.0
R R 2 - AR 1 0 0.0 0 0 0.0 1 0 0.0
EIE 5 55 5 R R AL B P AR 1 0 0.0 0 0 0.0 1 0 0.0
V=X VT — T B EEAR 1 0 0.0 0 0 0.0 1 0 0.0
FEF IR G R AR 1 0 0.0 0 0 0.0 1 0 0.0
it A & BR B AR koD B AR 1 0 0.0 0 0 0.0 1 0 0.0
OB AR AL R P AR 1 0 0.0 0 0 0.0 1 0 0.0
B I E R AL P AR 1 0 0.0 0 0 0.0 1 0 0.0

(65~964%)




e " T -
TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
F AL o A R R P A 1 0 0.0 0 0 0.0 1 0 0.0
et o] 2= LI R 7 1 0 0.0 0 0 0.0 1 0 0.0
~ R = TR AR AL R AR 1 0 0.0 0 0 0.0 1 0 0.0
V) —Z 8 & AR — Y B4 1 0 0.0 0 0 0.0 1 0 0.0
(97~100%%)

(&FH)

3t 6,955\ 4,638| 66.7| 5,664 4,449 78.5| 1,291 189  14.6

(332%%)



55 3 7 [l AL E SRR AR A S AR (BARERIE)

Q@B IER L — N (B EEEZRWT-ZEBRE)
(A5 ) XA (BAFI6EAH 1A NS ARTEIHIAET) ICAEXET) LEEIIARLIET) )
T RIABDE ., TBERE] (XREE (5F64E3H31H) £TICEEWET) LEETH D,

A ESBRBEUNONEELZHT HEEET,

(P2 R Z8E ] 12,

5

(ZBFE10ALLE]

HlHiR e T

TRE | OE R AR | ZREK| OB AR |2RE k| atkE K| Ak
] L 25 A Ak P AR 42 42| 100.0 42 42| 100.0 0 0 0.0
HRERBAL L Y (s abR 40 40 100.0 40 40 100.0 0 0 0.0
IR T 29 29| 100.0 29 29| 100.0 0 0 0.0
FERT 29 29 100.0 29 29| 100.0 0 0 0.0
P RGs -ol JEH OR 28 28| 100.0 28 28| 100.0 0 0 0.0
T VT 7 R AL 26 26 100.0 26 26| 100.0 0 0 0.0
AR AR T 26 26| 100.0 26 26| 100.0 0 0 0.0
SRR 25 25 100.0 25 25| 100.0 0 0 0.0
PSR P NES 23 23| 100.0 23 23| 100.0 0 0 0.0
KA O T 1 AL R PR 2R T3 23 23| 100.0 22 22| 100.0 1 1| 100.0
(AT NR I PNES 21 21| 100.0 20 20| 100.0 1 1| 100.0
AL SO R R 20 20( 100.0 20 20( 100.0 0 0 0.0
e, FH [ B p B AR 20 20( 100.0 20 20{ 100.0 0 0 0.0
RN R 19 19/ 100.0 19 19| 100.0 0 0 0.0
BN E MR R RS AR 19 19| 100.0 19 19| 100.0 0 0 0.0
[ NS 19 19| 100.0 19 19| 100.0 0 0 0.0
AR E A R AL AR 19 19| 100.0 19 19| 100.0 0 0 0.0
P Ly VE B AR AL B A 18 18| 100.0 18 18| 100.0 0 0 0.0
K @ R 17 17| 100.0 17 17| 100.0 0 0 0.0
i ErTPNE S 17 17| 100.0 17 17| 100.0 0 0 0.0
o B AR AL AR 17 17| 100.0 17 17| 100.0 0 0 0.0
WS LR A R AR 17 17| 100.0 17 17| 100.0 0 0 0.0
BA P “F At = k2 e 16 16/ 100.0 16 16| 100.0 0 0 0.0
PR LR 16 16 100.0 16 16| 100.0 0 0 0.0
[EE s E ALK 7 (E R AL P E B R AL = R A MERA R E AT — 2) 16 16 100 . 0 16 16 100 . 0 0 0 0 X 0
FLIR S AR AL B P AR 16 16| 100.0 16 16| 100.0 0 0 0.0
GiaLIE AV NE S8 P NE =i 16 16| 100.0 16 16| 100.0 0 0 0.0
B IR ARk S BT R P A 16 16| 100.0 16 16| 100.0 0 0 0.0

(1~281%)



R " T -

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
BB R AR 16 16| 100.0 15 15| 100.0 1 1| 100.0
i ) T R A R P A 15 15| 100.0 15 15| 100.0 0 0 0.0
PR AR AL - R R (iR AR 15 15| 100.0 15 15| 100.0 0 0 0.0
H ARAEEE PR 15 15| 100.0 15 15| 100.0 0 0 0.0
EEN T vNES 15 15| 100.0 15 15| 100.0 0 0 0.0
TV PR ALY R 14 14| 100.0 14 14| 100.0 0 0 0.0
E SR ibNe 14 14| 100.0 13 13| 100.0 1 1| 100.0
Lo i a3 P s 14 14| 100.0 14 14| 100.0 0 0 0.0
filia RF 14 14| 100.0 14 14| 100.0 0 0 0.0
FE Sk 27— S L B P 22 14 14| 100.0 14 14| 100.0 0 0 0.0
iR UNGS 14 14| 100.0 14 14| 100.0 0 0 0.0
B W R R 14 14| 100.0 14 14| 100.0 0 0 0.0
[GLIE R AL R FA% 13 13| 100.0 13 13| 100.0 0 0 0.0
MR ANEY T — L a kel 13 13| 100.0 13 13| 100.0 0 0 0.0
B ER 13 13| 100.0 13 13| 100.0 0 0 0.0
I VANT 7—RFE 13 13| 100.0 13 13| 100.0 0 0 0.0
LR B R 13 13| 100.0 13 13| 100.0 0 0 0.0
HBERY 13 13| 100.0 13 13| 100.0 0 0 0.0
LN R LR 12 12| 100.0 12 12| 100.0 0 0 0.0
FHZR) | SR A R P 2 12 12| 100.0 11 11| 100.0 1 1| 100.0
B VAN 7 — RS AL 12 12| 100.0 12 12| 100.0 0 0 0.0
GIIVE teoy NS 12 12| 100.0 12 12| 100.0 0 0 0.0
A AR 12 12| 100.0 12 12| 100.0 0 0 0.0
Rl R R 12 12| 100.0 12 12| 100.0 0 0 0.0
Ea N NS 12 12| 100.0 12 12| 100.0 0 0 0.0
A ARk B L R 12 12| 100.0 12 12| 100.0 0 0 0.0
IR S N 12 12| 100.0 12 12| 100.0 0 0 0.0
MC LW [ rat AR — > B A 11 11| 100.0 11 11| 100.0 0 0 0.0
R Bh 2 P i A Aok & T TR FH A% 11 11| 100.0 11 11| 100.0 0 0 0.0
PNURESIES R RE AR 5 11 11| 100.0 11 11| 100.0 0 0 0.0
R R R B L (R AR A7) 11 11| 100.0 11 11| 100.0 0 0 0.0
PO LN IR R 11 11| 100.0 11 11| 100.0 0 0 0.0

(29~60#%)




Sk ___ 1’*‘*%‘5( _ %ﬁi __ %%,

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
PNV S R A i 10 10| 100.0 10 10| 100.0 0 0 0.0
SPAEBHER 10 10| 100.0 9 9| 100.0 1 1| 100.0
LAEAB AT 10 10| 100.0 10 10| 100.0 0 0 0.0
S SR o A PSR 10 10/ 100.0 10 10| 100.0 0 0 0.0
MR R 10 10| 100.0 10 10| 100.0 0 0 0.0
HORXY MCA B Ak P 2R 10 10| 100.0 10 10| 100.0 0 0 0.0
R ZEE - R T B PR 10 10| 100.0 10 10| 100.0 0 0 0.0
BLRIT AR AL R PR R 7 10 10| 100.0 10 10| 100.0 0 0 0.0
INSSE NG 10 10| 100.0 10 10| 100.0 0 0 0.0
UNE S E 1 R IR P AL 30 29| 96.7 30 29| 96.7 0 0 0.0
BB 2 27 26| 96.3 26 26| 100.0 1 0 0.0
e FV LI R 25 24/ 96.0 24 24| 100.0 1 0 0.0
FUAAE R R A 23 22| 95.7 22 22 100.0 1 0 0.0
R[5l M A7 ol R 23 22 95.7 20 20| 100.0 3 2| 66.7
o it [ S AR AL B P AR 22 21| 95.5 22 21| 95.5 0 0 0.0
LG R 21 20 95.2 21 20/ 95.2 0 0 0.0
RIFEFLAH B AL M S 11 21 20 95.2 21 20 95.2 0 0 0.0
B LR 21 20 95.2 21 20/ 95.2 0 0 0.0
YICE @ AL R AL 21 20 95.2 19 19| 100.0 2 1| 50.0
NS R A i 41 39 95.1 40 39 975 1 0 0.0
AT J R AR LR P AR 20 19  95.0 19 19| 100.0 1 0 0.0
TRV [E B 20 19 95.0 19 19| 100.0 1 0 0.0
FSR A R 19 18| 94.7 19 18] 94.7 0 0 0.0
TL N E B B0 O 7R 5P 548 37 35|  94.6 33 33| 100.0 4 2| 50.0
il 5 B AL P A 37 35 94.6 36 35 97.2 1 0 0.0
RELARF 18 17 94.4 18 17| 94.4 0 0 0.0
H R Lk [ PR R P AR 18 17| 94.4 17 17| 100.0 1 0 0.0
JUUN I AT — a5 17 16|  94.1 17 16|  94.1 0 0 0.0
FUM RS R 5 (I RHF AL ) 16 15|  93.8 16 15  93.8 0 0 0.0
i R (IR A i 16 15|  93.8 15 15| 100.0 1 0 0.0
TR [ A kR P AR 31 29|  93.5 30 29| 96.7 1 0 0.0
) AL R A 31 29|  93.5 31 29| 93.5 0 0 0.0

(61~924%)




Sk __ fwﬁk _ %ﬁi __ @fé

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
KR RE R L K2 (@ k) 15 14| 93.3 15 14| 93.3 0 0 0.0
ZEEUNE YT — L al R R AR 15 14| 93.3 15 14| 93.3 0 0 0.0
R =T 7L H P A AL 5 P 2 28 26/ 92.9 28 26| 92.9 0 0 0.0
VO [P K7 B A 14 13 92.9 13 13| 100.0 1 0 0.0
Mg R A R R P R 14 13 92.9 14 13| 92.9 0 0 0.0
A He R = Rt A B P A 14 13 92.9 13 13| 100.0 1 0 0.0
I\ R R R 27 25| 92.6 26 25| 96.2 1 0 0.0
R B B AR AL P A R AR 26 24 92.3 23 23| 100.0 3 1| 33.3
JEE VL BB R R AR AL B P AR 13 12| 92.3 13 12| 92.3 0 0 0.0
Bl e SAC ¥ IR AR 3 13 12| 92.3 13 12| 92.3 0 0 0.0
RIS S NS R N = 24 22| 91.7 24 22| 91.7 0 0 0.0
WA A ik B A% 12 11| 91.7 12 11| 91.7 0 0 0.0
R IRt s 2 ) A 12 11| 91.7 12 1| 917 0 0 0.0
(O st TP NE S TR P NE S 12 11 91.7 11 11| 100.0 1 0 0.0
o 25 AR AL B S v s 35 32 914 33 32| 97.0 2 0 0.0
5 EFAEE AL &I TR 7R 23 21| 91.3 23 21|  91.3 0 0 0.0
RIFI AR P VR AR 11 10| 90.9 11 10 90.9 0 0 0.0
VY [ R R R 11 10| 90.9 10 10{ 100.0 1 0 0.0
RN FNE T N 11 10 90.9 10 10| 100.0 1 0 0.0
2 P S 47 1 & AR S S e T 2 (R ) 21 19 90.5 20 18 90.0 1 1| 100.0
INVUNEEEINES 21 19  90.5 18 18| 100.0 3 1| 33.3
F A=Y 7SR AR P AR 21 19  90.5 19 18|  94.7 2 1| 50.0
B 2w =T R AE AL R 20 18| 90.0 20 18| 90.0 0 0 0.0
4 i R PR R AR A & TT B 4% 20 18] 90.0 19 18| 94.7 1 0 0.0
PR 777 I — R AR 10 9  90.0 8 8| 100.0 2 1| 50.0
TRAL PR B[22 98 55 FH A 10 9  90.0 9 9| 100.0 1 0 0.0
HAERZAL EEAEBE F 29 26|  89.7 27 25| 92.6 2 1|  50.0
Pt oE B L AR AL R AR 29 26|  89.7 26 23|  88.5 3 3| 100.0
BRI~ — R AN E AR AL P AR 19 17 89.5 18 17| 94.4 1 0 0.0
T S AR A R P AR 19 17| 89.5 18 17| 94.4 1 0 0.0
B LR e A 2 1 P AR 27 24|  88.9 25 24| 96.0 2 0 0.0
JENAIE R IR A e i 18 16| 88.9 18 16| 88.9 0 0 0.0

(93~124)




Sk __ M& _ %ﬁi __ @fé

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
EBrt 2 SKULEMFR 18 16| 88.9 17 16|  94.1 1 0 0.0
BEEGYMCA E Bk 55 2 18 16| 88.9 15 15| 100.0 3 1| 333
FITAR A AR H P s 18 16| 88.9 17 16|  94.1 1 0 0.0
EFNRE Ak B P A 18 16| 88.9 18 16| 88.9 0 0 0.0
AP EfE A E AR 26 23| 88.5 24 23| 95.8 2 0 0.0
BERS /S — 2 KSR AL SR (k) 17 15| 88.2 17 15| 88.2 0 0 0.0
7 AL R A 24 21| 87.5 20 20[ 100.0 4 1| 25.0
ptE AR R AR 24 21|  87.5 21 20/ 95.2 3 1| 333
AN 16 14| 87.5 15 14| 933 1 0 0.0
[EREP:N R i PNe 16 14| 87.5 15 13|  86.7 1 1| 100.0
N =T A AL DI oy P A 4 B P 2 £ 30 26| 86.7 28 25| 89.3 2 1| 50.0
PR D R ABU AR AL P A 15 13| 86.7 15 13| 86.7 0 0 0.0
R N 15 13| 86.7 14 13| 92.9 1 0 0.0
RO B P AR 22 19| 86.4 19 19| 100.0 3 0 0.0
DU ] 2 i A L B A 22 19| 86.4 19 18| 94.7 3 1| 333
S fi] S S Al E P 2R AR 22 19| 86.4 18 18| 100.0 4 1l 25.0
FOLASR KR PR R B B AL 35 30| 85.7 32 29| 90.6 3 1| 333
JE 1B e kR AR 21 18| 85.7 21 18|  85.7 0 0 0.0
KBt kR P AR 14 12|  85.7 10 9  90.0 4 3| 75.0
RIGEREZEE B 14 12|  85.7 12 10 83.3 2 2| 100.0
NI NS 14 12|  85.7 14 12| 85.7 0 0 0.0
FIRR LA 2 e B P A 14 12| 85.7 14 12|  85.7 0 0 0.0
FLFiG FH O3 RC PR AR AL B P AR 14 12| 85.7 11 11| 100.0 3 1| 333
AR Bk P A 13 11| 84.6 12 11| 917 1 0 0.0
BHUNHRRHEEE IR P AL 44 37| 84.1 41 36| 87.8 3 1| 333
IR Tl 2 I 7 5 P R e 24 20/ 83.3 22 20/ 90.9 2 0 0.0
A VA AL 8 P A 24 20| 83.3 20 19/  95.0 4 1| 25.0
Pl Y aweas e RN i 18 15| 83.3 14 13| 92.9 4 2| 50.0
BTt @ AL B P 2R 29 24|  82.8 28 24| 85.7 1 0 0.0
W] AL Ok B B AR 29 24| 82.8 24 22| 91.7 5 2| 40.0
H AR AL 7 e k5 PR AR 34 28| 82.4 31 28| 90.3 3 0 0.0
T JF I 7 Bl J A K 17 14| 82.4 16 14| 875 1 0 0.0

(125~1564%)




e " T -

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
AR R ST A AR L oY 11 9] 81.8 10 9]  90.0 1 0 0.0
HUTR AL B S (S Lk 24 ) 27 22|  81.5 24 22| 91.7 3 0 0.0
FEAESAURY) 3 ¥ |y N S TR b N 21 17| 81.0 19 17| 89.5 2 0 0.0
A i R A AR R P AR 31 25| 80.6 30 25|  83.3 1 0 0.0
FEB R AR AR R P R 30 24| 80.0 25 22| 88.0 5 2| 40.0
B TARAL R T PR LR T B R A 22 20 16|  80.0 19 16| 84.2 1 0 0.0
RZEb@utr oy 20 16|  80.0 19 16| 84.2 1 0 0.0
<HLERE AL AR 26 20( 76.9 23 20/  87.0 3 0 0.0
P IR AT MBI R 50 13 10  76.9 13 10| 76.9 0 0 0.0
SRR IR T R AT SR L T3 13 10| 76.9 12 10 83.3 1 0 0.0
YMCA S FEHR AL R P 524 16 12| 75.0 13 12| 923 3 0 0.0
ANVVAS IR A e iy 12 9| 75.0 10 9| 90.0 2 0 0.0
RN (5] B PR AL B P AR 19 14| 73.7 15 14| 933 4 0 0.0
R s o T ey - i e 15 11| 73.3 14 11| 78.6 1 0 0.0
HE R LR B R B AR 10 71 70.0 9 71 778 1 0 0.0
ZZA BRI AL 15 10|  66.7 12 10| 83.3 3 0 0.0
B RC E R R AL L Y 11 6] 54.5 10 6| 60.0 1 0 0.0
EUNTNES PN S 13 7| 53.8 10 7| 70.0 3 0 0.0

(157~174%)




(B2 BE 10 AK)

Sk __ fw;ﬂz _ %ﬁi __ &fé

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
B VSRR A PP 2 7 |3 p s /S22 9 9| 100.0 9 9| 100.0 0 0 0.0
IR B A BRI AL P KL 9 9| 100.0 9 9| 100.0 0 0 0.0
JEB L 05 2 LR 9 9| 100.0 9 9| 100.0 0 0 0.0
PR 1 JRSL PR AR AR R 9 9| 100.0 9 9| 100.0 0 0 0.0
Ak B AR e bk P A 9 9| 100.0 9 9| 100.0 0 0 0.0
ZZAEREAER T ER B IR 9 9| 100.0 8 8| 100.0 1 1| 100.0
3R TR 9 9| 100.0 9 9| 100.0 0 0 0.0
HNELIEZE BB HER P 9 9| 100.0 9 9| 100.0 0 0 0.0
R[] S AR L= P 2P 9 9| 100.0 9 9| 100.0 0 0 0.0
A At SR 9 9| 100.0 9 9| 100.0 0 0 0.0
FEK LY MC A [E] Btk B 22 9 9| 100.0 9 9| 100.0 0 0 0.0
RINE R P42 8 8| 100.0 8 8| 100.0 0 0 0.0
JEE I R [EI R OR 8 8| 100.0 8 8| 100.0 0 0 0.0
F [N T/ANVAYNE = 8 8| 100.0 8 8| 100.0 0 0 0.0
{EMNAR— R AR AL R P AR 7 7| 100.0 7 7| 100.0 0 0 0.0
BIEa T HL o 7 7| 100.0 7 7| 100.0 0 0 0.0
el 0 K7 7 7| 100.0 7 7| 100.0 0 0 0.0
IR 7 7| 100.0 7 7| 100.0 0 0 0.0
(IR N 7 7| 100.0 7 7| 100.0 0 0 0.0
FENER PRI 7 7| 100.0 7 7| 100.0 0 0 0.0
YMCA KT AR AL 7 7| 100.0 7 7| 100.0 0 0 0.0
%2 I SR AR AL T P P B TR R 6 6| 100.0 6 6| 100.0 0 0 0.0
KRIFAR— AR B AL R A% 6 6| 100.0 6 6| 100.0 0 0 0.0
7 =1 7 B P A 6 6| 100.0 6 6| 100.0 0 0 0.0
HETE AR SR AL P AR 6 6| 100.0 6 6| 100.0 0 0 0.0
FEpicp ey NES 6 6| 100.0 6 6| 100.0 0 0 0.0
FLIGRE 2= 77 B i ok e A5 5 P 24 6 6| 100.0 6 6| 100.0 0 0 0.0
B RO R R P SR 6 6| 100.0 6 6| 100.0 0 0 0.0
FEEE L7 R T 6 6| 100.0 6 6| 100.0 0 0 0.0
HWHH)F KT 6 6| 100.0 6 6| 100.0 0 0 0.0
BRG] e R AR L oY 6 6| 100.0 6 6| 100.0 0 0 0.0
BB L - (R R (el R 6 6 100.0 6 6| 100.0 0 0 0.0

(1~32%)




Sk ___ Mzﬂz _ %ﬁi __ %%,

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
"B A DR PR U P AR 6 6| 100.0 6 6| 100.0 0 0 0.0
OSJE Loy T A7 — L 5 5/ 100.0 5 5/ 100.0 0 0 0.0
[ B = R R AR AR R 5 5| 100.0 5 5| 100.0 0 0 0.0
I IR (A AL R 5 5/ 100.0 5 5/ 100.0 0 0 0.0
B 5 5/ 100.0 5 5| 100.0 0 0 0.0
TEHE (L7 [ R B AR AR A 5 5/ 100.0 5 5/ 100.0 0 0 0.0
LR T 5 5/ 100.0 5 5| 100.0 0 0 0.0
bR E R IR KT 5 5/ 100.0 5 5/ 100.0 0 0 0.0
TR BN E R I L v 5 5| 100.0 5 5| 100.0 0 0 0.0
T U7 R AL R P AR 4 4| 100.0 4 4| 100.0 0 0 0.0
R 2 e - B B B P S A PR ASE 4 4| 100.0 4 4| 100.0 0 0 0.0
UM E SRR 4 4| 100.0 4 4| 100.0 0 0 0.0
SRESPSE i NES 4 4| 100.0 4 4| 100.0 0 0 0.0
LI AR LR P o 4 4| 100.0 4 4| 100.0 0 0 0.0
AL 2 B P 2 4 4| 100.0 4 4| 100.0 0 0 0.0
AR E AR AL B P AR 4 4| 100.0 4 4| 100.0 0 0 0.0
EINIVR NG 4 4| 100.0 4 4| 100.0 0 0 0.0
IS vy e 4 4| 100.0 4 4| 100.0 0 0 0.0
TR AR A R P AR 4 4| 100.0 3 3| 100.0 1 1| 100.0
AR R R 3 3| 100.0 3 3| 100.0 0 0 0.0
KIFLR B AR AT P AR AR il A 3 3| 100.0 3 3| 100.0 0 0 0.0
TUMN BEIRAR — Y B A% 3 3| 100.0 3 3| 100.0 0 0 0.0
SO EFAEALF 7R 3 3| 100.0 3 3| 100.0 0 0 0.0
AT VAT R 3 3| 100.0 3 3| 100.0 0 0 0.0
B S XR IV 3 3| 100.0 2 2| 100.0 1 1| 100.0
T b | PR PR AR Ak = P AR 3 3| 100.0 3 3| 100.0 0 0 0.0
PG i R AL R 3 3| 100.0 3 3| 100.0 0 0 0.0
TN RERAL R 2 2| 100.0 2 2| 100.0 0 0 0.0
R - Bl R 2 2| 100.0 2 2| 100.0 0 0 0.0
AT 4 AT — [ FR A AL P A 2 2| 100.0 2 2| 100.0 0 0 0.0
FE PR 2 2| 100.0 2 2| 100.0 0 0 0.0
P SN S 2 2| 100.0 2 2| 100.0 0 0 0.0

(33~641%)




Sk __ m:& _ %ﬁi _ &fé

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
FORREALIR T B AR 2 2| 100.0 2 2| 100.0 0 0 0.0
= BRI R 2 2| 100.0 2 2| 100.0 0 0 0.0
SRR 2 2| 100.0 2 2| 100.0 0 0 0.0
DU H i fk R P s 2 2| 100.0 2 2| 100.0 0 0 0.0
BT 2R PRI R 75 1 1| 100.0 0 0 0.0 1 1| 100.0
JRAE EFR AR & PR B E M @A (V=2 VD — T — ) 1 1 100.0 0 0 0.0 1 1 100.0
TR R 7R R 1 1| 100.0 0 0 0.0 1 1| 100.0
KKz =T 4T — T — B AL 1 1| 100.0 1 1| 100.0 0 0 0.0
FOATY MCA [E B Ak 55 P =2 1 1| 100.0 1 1| 100.0 0 0 0.0
FR LA TE R R PR SR 1 1| 100.0 1 1| 100.0 0 0 0.0
FLMEAR AL 25 HE R PR 22 Ak 1 1| 100.0 0 0 0.0 1 1| 100.0
IR R 1 1| 100.0 0 0 0.0 1 1| 100.0
RS R AL P R 1 1| 100.0 0 0 0.0 1 1| 100.0
BN R R 1 1| 100.0 0 0 0.0 1 1| 100.0
FHRERKTF 1 1| 100.0 1 1| 100.0 0 0 0.0
g e R I A v 1 1| 100.0 0 0 0.0 1 1| 100.0
AT ] R A B P e 1 1| 100.0 1 1| 100.0 0 0 0.0
=T vy 1 1| 100.0 1 1| 100.0 0 0 0.0
RIRALTE 7 5P 9 8| 88.9 8 8| 100.0 1 0 0.0
LN R 7 9 8| 88.9 8 8| 100.0 1 0 0.0
Rl E BT 9 8| 88.9 9 8| 88.9 0 0 0.0
PR R IREAR R 8 71 875 7 7| 100.0 1 0 0.0
A 1L 207 K F 8 7| 875 7 7| 100.0 1 0 0.0
TR AT AR AR AR 8 7| 875 8 7| 875 0 0 0.0
HARHO EHEHKF 7 6| 85.7 6 6| 100.0 1 0 0.0
KPR R AR LTI R 2 (IR S B AR k2t 7 6 85.7 7 6 85.7 0 0 0.0
JEB I I [ AR 3l B P AR 7 6| 85.7 7 6| 85.7 0 0 0.0
RS R nE P e 7 6| 85.7 7 6| 85.7 0 0 0.0
EBE IR T M P 7 6| 85.7 6 5/ 83.3 1 1| 100.0
T BEAE AL R AR 7 6| 85.7 6 6| 100.0 1 0 0.0
EREL IRV PN 6 5/ 83.3 6 5/ 83.3 0 0 0.0
TR E IR 6 5/ 83.3 6 5/ 83.3 0 0 0.0

(65~964%)




Sk __ Mﬁz _ %ﬁi __ @fé

TRHER| AR AR | ZRE | OB | AR |ZRER| OREK| AR
R FH [958 5l =3P A 6 5| 83.3 6 5/ 83.3 0 0 0.0
TS R kP AR 6 5| 83.3 4 4] 100.0 2 1| 50.0
B I R PR AR 5 4| 80.0 5 4| 80.0 0 0 0.0
RIRPR B AR PR 9 71 778 7 6| 85.7 2 1l 50.0
IR AR AL O B B P AR 9 71 778 8 7| 875 1 0 0.0
AL S 248 (3l 7R 9 71 71.8 8 6| 75.0 1 1| 100.0
i KR AL R P AR 4 3] 75.0 3 3| 100.0 1 0 0.0
SLEEALF PR 4 3] 75.0 1 1| 100.0 3 2| 66.7
Pl B AR R RS 4 3| 75.0 4 3| 75.0 0 0 0.0
(-G TE PN 7 5| 71.4 7 5/ 71.4 0 0 0.0
RE HAE A B P 24 9 6| 66.7 8 6| 75.0 1 0 0.0
R R A e ik & TTHE 2745 9 6| 66.7 9 6| 66.7 0 0 0.0
AOT[E B LB 525 3 2| 66.7 2 1| 50.0 1 1| 100.0
ENET AR — Y AR EEM P 3 2| 66.7 3 2| 66.7 0 0 0.0
HO AR F 7 4| 57.1 7 4| 57.1 0 0 0.0
o PR AR AR B R AR 2 1|  50.0 2 1| 50.0 0 0 0.0
FOE R AR A 3 1| 33.3 0 0 0.0 3 1| 33.3
A AR ERRR 3 1| 333 2 1| 50.0 1 0 0.0
PR E g L)Y — AL VIR 3 0 0.0 0 0 0.0 3 0 0.0
BERS /= AR EAR LR P 0 (Rt R 2 0 0.0 0 0 0.0 2 0 0.0
INUT R e h N 1 0 0.0 0 0 0.0 1 0 0.0
JUPM R FLHAR T (R84 1 0 0.0 0 0 0.0 1 0 0.0
V= )LD — B SRR 1 0 0.0 0 0 0.0 1 0 0.0
EE G R R 1 0 0.0 0 0 0.0 1 0 0.0
i AL LB BT AR koD B PR 2R 1 0 0.0 0 0 0.0 1 0 0.0
ST HERE A (St 34 ) 1 0 0.0 0 0 0.0 1 0 0.0
TEAA AR A BEFH AR 1 0 0.0 0 0 0.0 1 0 0.0
i e [ PR A R 1 0 0.0 0 0 0.0 1 0 0.0
T TP AL 1 0 0.0 1 0 0.0 0 0 0.0
~ B =T SRR AL R AR 1 0 0.0 0 0 0.0 1 0 0.0

(97~1264%)
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55 3 7 IR R Al [E R AR i

Q@FIEFR N — (EFEAZRE)
] 15 HEE (DF6EAH IR OGS MT4ESHIIRET) |

T RAHZDE ., TBEZE ] (XAT4EE (BF6#3H31H) £ Tlza

slla k=R (BHRIIA

)

IHEFEUET) LB TR UET)

HFREUET)LIEETH D,

MREEAZBRE | I IMEREEPE Y TH 2 E UIEFARIERERPIE L TH- T ETH D,

(ZB®RHFAL10ALLE)
SR, = T S C
TRRER| ARER| AR | ZRER| ARE| SRR | ZRE | ARE| AR
R E S R A2 () 3l e R B TR 13 13| 100.0 13 13| 100.0 0 0 0.0
BE PR AT TR 26 25| 96.2 25 24 96.0 1 1| 100.0
HNEI I #EZEHEAERET 2L 12 11 91.7 11 11| 100.0 1 0 0.0
A V50 2 o LB R 10 9] 90.0 10 9]  90.0 0 0 0.0
VAR AR IR Ak & DT P S RCHE WAL () 15 13 86.7 11 11{ 100.0 4 2 50.0
TR ILY MCA [EI B ik 2 P 54 20 17 85.0 17 16|  94.1 3 1| 333
B S T U A 49 38|  77.6 40 38| 95.0 9 0 0.0
HRY MCA EFR AR R P AR 21 16| 76.2 16 15| 93.8 5 1| 20.0
FRER BT R PRI R 38 28| 73.7 32 28| 87.5 6 0 0.0
WS AR AL R P AL 11 8| 727 7 6| 85.7 4 2| 50.0
Ve 2 FRIIR 35 25| 71.4 26 23|  88.5 9 2| 22.2
TR ASRAE B TP AR 17 12| 70.6 12 11 91.7 5 1| 20.0
i fE Ik P — LR S 10 7| 70.0 9 71 77.8 1 0 0.0
R 7 [ A B P~ A o £ 43 30 69.8 33 29|  87.9 10 1| 10.0
N =F L s B AR AL R 274 19 13|  68.4 18 13| 722 1 0 0.0
PE LN R A R 37 25|  67.6 27 24| 88.9 10 1| 10.0
SRR NE YT — L a R AL 21 14| 66.7 16 14| 875 5 0 0.0
BRG] (L B R AT Lo 11 7| 63.6 8 5| 62.5 3 2| 66.7
INUEWI ¢ TE NS 64 40|  62.5 64 40|  62.5 0 0 0.0
A AtEHEZCE B P A 40 24| 60.0 31 22| 71.0 9 2| 22.2
B Ak HE P 524 32 18| 56.3 26 15| 57.7 6 3| 50.0
A B S Y A 11 6| 54.5 9 5| 55.6 2 1| 50.0
FOR AR R FARALRE AR 11 6| 54.5 6 5/ 83.3 5 1| 20.0
72 5 125 R Ak B P A e R AR 26 14| 53.8 26 14| 53.8 0 0 0.0
N T AR A B i 72 38| 528 45 35| 77.8 27 3| 11.1
FORARALR B B PR 23 11| 47.8 13 10| 76.9 10 1| 10.0
P VA AL T o8 P AR 21 10| 47.6 14 10 71.4 7 0 0.0
R R A Al B B P S A FR AR 28 13| 46.4 13 8| 61.5 15 5| 33.3
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TERER| ORE | ORR | ZRER| kB AR |ZERE | akE K| AR
Fo LU B A L Ak R P AR 26 12| 46.2 14 12|  85.7 12 0 0.0
BAVE AL @ AL R P AR 42 18| 42.9 31 14|  45.2 11 4| 36.4
P Ly VE BRE R AL P A 27 11{  40.7 13 5| 38.5 14 6| 42.9
FREFRKT: 25 10{  40.0 19 8| 42.1 6 2| 33.3
] L1 25 P Ak R P AR 10 4| 40.0 8 4| 50.0 2 0 0.0
LR BRI OFRET ER 38 15[  39.5 24 14| 58.3 14 1 7.1
e ] B s A B P A 13 5| 38.5 7 51 71.4 6 0 0.0
N YN AV S CE il R 65 24| 36.9 52 23| 44.2 13 1 7.7
PR R i AL TP A 19 7| 36.8 16 7| 43.8 3 0 0.0
KBH KT 31 11| 35.5 31 11| 355 0 0 0.0
RN [ B P AL R P A 20 7| 35.0 10 71 70.0 10 0 0.0
BT ML 20 (st L2 4R ) 32 11| 34.4 17 10{ 58.8 15 1 6.7
i TE AL PR T T P S B P 2 15 5/ 33.3 7 5| 714 8 0 0.0
T — VI R R AL P A 12 4] 33.3 6 1| 16.7 6 3| 50.0
Il 5 [ o 8 AL B FH 2P 25 8| 32.0 16 7| 43.8 9 1| 111
OUET T IEAL AL 41 13| 31.7 40 13| 32,5 1 0 0.0
Fe AR O A S P L TR 19 6| 31.6 13 6| 46.2 6 0 0.0
7= B fmakh Je e 68 211 30.9 52 21 40.4 16 0 0.0
TSR AL H AL 13 4] 30.8 6 4| 66.7 7 0 0.0
BB EIBREHR Y R AR AR 34 10| 29.4 29 10| 34.5 5 0 0.0
ER AR TE B EE P SR 17 5| 29.4 9 3| 33.3 8 2| 25.0
TR/ S AR EAR AL M 22AR (I ste k2R 11 3 27.3 3 1 33.3 8 2 25.0
S EAF AL B P AR 11 3| 27.3 6 2| 333 5 1| 20.0
T VT BERRAE XU T B 15 4] 26.7 15 4| 26.7 0 0 0.0
YMCAGERE AL P4 15 4] 26.7 5 2| 40.0 10 2| 20.0
FBEFEAL L~ (I R Ak L L 7R 56 14 25.0 52 13 25.0 4 1 25.0
FUETY MCA E B @ AL P A 16 4| 25.0 9 4| 44.4 7 0 0.0
AR B Ak B P 2 21 5| 23.8 11 3| 27.3 10 2| 20.0
R A ik P A 59 14| 23.7 53 13| 24,5 6 1| 16.7
AR B P R 26 6| 23.1 19 4 21.1 7 2| 28.6
MU AE YT — g B 13 3| 231 3 2| 66.7 10 1| 10.0
i H R SRR AL P A 14 3| 214 7 3| 42.9 7 0 0.0
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TERER| ORE | ORR | ZRER| kB AR |ZERE | akE K| AR
JUMI E AR — B A 242 105 22| 21.0 22 15|  68.2 83 7 8.4
KA 2=T 4T — B —HE 524 54 11| 20.4 39 9] 23.1 15 2| 13.3
BB A AT — 7 R AR AL 60 12| 20.0 28 7| 25.0 32 5| 15.6
ZZABEFREAL R R A I 25 5/ 20.0 21 5/ 23.8 4 0 0.0
T0] J5 2 5 R AU B P A 15 3] 20.0 6 3 50.0 9 0 0.0
FEPRE Y R B R AL R 10 2| 20.0 3 0 0.0 7 2|  28.6
BB K 10 2| 20.0 2 2| 100.0 8 0 0.0
DN I R P AR 21 4] 19.0 15 3 20.0 6 1| 16.7
Bl Y SRes (IR AR i 64 12| 18.8 41 11|  26.8 23 1 4.3
Rk T IR A i 16 3| 18.8 11 3| 27.3 5 0 0.0
U ONTONES 1 PNE 55 10| 18.2 34 10|  29.4 21 0 0.0
e TAF L2 R kB P AR 22 4| 18.2 9 3| 333 13 1 7.7
FAR Lt kP A 48 8| 16.7 33 6| 18.2 15 2| 13.3
AN < | RE 5 42 7| 16.7 28 5/ 17.9 14 2| 14.3
EZEbmakr oy 12 2| 16.7 11 2| 18.2 1 0 0.0
B 49 8| 16.3 20 4] 20.0 29 4| 13.8
AOIE B AL R P74 64 9| 14.1 54 8| 14.8 10 1| 10.0
(RSN E e 67 9| 13.4 37 6| 16.2 30 3| 10.0
PO B i ik P s 64 8| 12.5 30 6| 20.0 34 2 5.9
(LS RPI = S8 Ay A 2 16 2| 125 5 2| 40.0 11 0 0.0
B AR AR P AR 38 4] 10.5 6 1| 16.7 32 3 9.4
SRy TR NS 10 1| 10.0 6 1| 16.7 4 0 0.0
BB E B @ AL L Y 31 3 9.7 19 3| 15.8 12 0 0.0
R E AL LR S H P A 21 2 9.5 13 0 0.0 8 2| 25.0
ZIAE BN T AL 33 3 9.1 24 3| 125 9 0 0.0
PEY e LS YN 11 1 9.1 2 0 0.0 9 1| 111
i LR 27 2 7.4 6 1| 16.7 21 1 4.8
MR A AR B B P AR 31 2 6.5 8 2| 25.0 23 0 0.0
AARZ E bR ALY 24K 32 2 6.3 29 2 6.9 3 0 0.0
B EEREE Y = LT DR L 27 1 3.7 0 0 0.0 27 1 3.7
AR SRR AL R PR A 37 1 2.7 31 1 3.2 6 0 0.0
B EFRAEALF A R 27 0 0.0 24 0 0.0 3 0 0.0

(61~924%)
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ZERER| AR B AR | 2R ARE K| AR | ZBRER| S E | AR
B L~ =T 7 E SRR AR R PR 26 0 0.0 11 0 0.0 15 0 0.0
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(ZBR#F 10 AKT)

ey __ -Mﬁz __ %JTZF—” _ E‘;EZ.EU

TERER| ORE | ORR | ZRER| kB AR |ZERE | akE K| AR
WS E AR AL R P 2R 8 8| 100.0 8 8| 100.0 0 0 0.0
R AL AR AL R P 2K AR 7 7| 100.0 7 7| 100.0 0 0 0.0
BV ANT 7 — KA AL oA 6 6| 100.0 6 6| 100.0 0 0 0.0
Pt oe B T SR ik o P 22 5 5| 100.0 3 3| 100.0 2 2| 100.0
MC LJZE i) P A A — 7 B Y 2 3 3| 100.0 3 3| 100.0 0 0 0.0
JEE VR BB IR R AR AL B P S 3 3| 100.0 2 2| 100.0 1 1| 100.0
HRERRE R 2 2| 100.0 2 2| 100.0 0 0 0.0
IGLE AL R 1 1| 100.0 1 1| 100.0 0 0 0.0
R B0 AL & T TR P AR 1 1| 100.0 1 1| 100.0 0 0 0.0
RIFAS T e e k25 P A VR AR 1 1| 100.0 1 1| 100.0 0 0 0.0
R =Y I SRR A 1 1| 100.0 1 1| 100.0 0 0 0.0
mENRANL R 1 1| 100.0 1 1| 100.0 0 0 0.0
PR PR AL B P s R 1 1[ 100.0 1 1| 100.0 0 0 0.0
] B 1= R e Ak R P AR B AR 1 1[ 100.0 0 0 0.0 1 1| 100.0
P (RS 4575 A A ) 1 11 100.0 1 1 100.0 0 0 0.0
15 NI 3 R AL R P A 1 1| 100.0 1 1| 100.0 0 0 0.0
LI [ A AL R P A 1 1| 100.0 1 1| 100.0 0 0 0.0
7 HUE LR P AR 1 1| 100.0 1 1| 100.0 0 0 0.0
O [E B AR AL R P A 1 1[ 100.0 0 0 0.0 1 1| 100.0
Rl E B R 1 1| 100.0 1 1| 100.0 0 0 0.0
BEERY MCAE BEAL P L 1 1| 100.0 1 1| 100.0 0 0 0.0
IS S IR A i 1 1| 100.0 1 1| 100.0 0 0 0.0
FLIR = A IR Ak B 5P A 9 8| 88.9 9 8| 88.9 0 0 0.0
RN ko P A 8 7| 875 8 7| 87.5 0 0 0.0
FURR A Al B P A 5 4| 80.0 4 4| 100.0 1 0 0.0
HHERER 5 4| 80.0 4 3| 75.0 1 1| 100.0
B OO ERALF 2T 5 4| 80.0 4 4| 100.0 1 0 0.0
TR I [E B R 5 4| 80.0 3 3| 100.0 2 1| 50.0
NI =7 b B LB oA 4 3l 75.0 4 3l 75.0 0 0 0.0
D0 6] A A 4 R 350 7 5/ 71.4 4 3| 75.0 3 2| 66.7
BER A A AEEE BT AR 6 4| 66.7 4 3 75.0 2 1| 50.0
AARITE VAL v 6 4| 66.7 4 3l 75.0 2 1| 50.0
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R " T "

TERER| ORE | ORR | ZRER| kB AR |ZERE | akE K| AR
R OR A ko P A 3 2| 66.7 2 2| 100.0 1 0 0.0
T BE AR LB A 8 5| 62.5 6 5/ 83.3 2 0 0.0
YICE @ AL R 7% 5 3| 60.0 5 3| 60.0 0 0 0.0
RIF RO B A AL PP T-HER 7 41 57.1 7 4| 57.1 0 0 0.0
B A B P S5 35 3 1] % /S 2 8 4| 50.0 5 4] 80.0 3 0 0.0
FLE F L SRR AL R P AR 8 4| 50.0 7 4| 57.1 1 0 0.0
4y R PR E AR A & I TR 4% 4 2| 50.0 1 1| 100.0 3 1| 333
AR E L B AR 4 2| 50.0 3 2| 66.7 1 0 0.0
AR TR E R 2 1| 50.0 2 1| 50.0 0 0 0.0
T AN R R 50 2 1  50.0 0 0 0.0 2 1| 50.0
7 JR =7 B R 2 1  50.0 1 1| 100.0 1 0 0.0
JEE I B 2 LR F 2 [  50.0 1 1| 100.0 1 0 0.0
PR AR AL R RO (S L) 2 1 50.0 0 0 0.0 2 1 50.0
HOTRAER 2 [  50.0 2 1| 50.0 0 0 0.0
A A Ak R 1 A A B AR 2 [  50.0 1 1| 100.0 1 0 0.0
TR 8 kP 7 B P 22 AR 2 1|  50.0 2 1| 50.0 0 0 0.0
VAGRLES 7 NE = 78 -1 P NE =i 9 4| 44.4 9 4| 44.4 0 0 0.0
B A L P 7 P A 9 4] 44.4 7 3| 42.9 2 1| 50.0
WAL YT — a5 A 5 2| 40.0 0 0 0.0 5 2| 40.0
rp A A R R B AR 5 2| 40.0 1 1| 100.0 4 1| 25.0
T o 1T B I PR A B P A 8 3| 37.5 4 2| 50.0 4 1| 25.0
JE MR B2 I AR AT B P A 3 1| 333 0 0 0.0 3 1| 33.3
P37 B AR K FEEH R 3 1| 333 0 0 0.0 3 1| 333
B AR R 3 1| 333 2 1| 50.0 1 0 0.0
$ [ SAEAE AL R P A 9 2| 222 4 2| 50.0 5 0 0.0
8 R AT o P AR 5 1| 20.0 0 0 0.0 5 1| 20.0
PSR A (R B R R E S L s 5 1l 20.0 0 0 0.0 5 1| 20.0
B R @ AL R A L 5 1| 20.0 4 0 0.0 1 1| 100.0
KE R ALEE F PR 6 1| 16.7 3 1| 333 3 0 0.0
HOLM B R 6 1| 16.7 1 1| 100.0 5 0 0.0
KOR R IR (S it hb 7R 8 0 0.0 6 0 0.0 2 0 0.0
AR R 5 0 0.0 5 0 0.0 0 0 0.0
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R " T "

TERER| ORE | ORR | ZRER| kB AR |ZERE | akE K| AR
RIGERZEGHMPL 5 0 0.0 1 0 0.0 4 0 0.0
& R AL P 524 4 0 0.0 0 0 0.0 4 0 0.0
BAVE IR B @ Ak R P AR 4 0 0.0 0 0 0.0 4 0 0.0
WA @ AL R P AR 4 0 0.0 4 0 0.0 0 0 0.0
B 4 0 0.0 0 0 0.0 4 0 0.0
N H T R AT P A 4 0 0.0 0 0 0.0 4 0 0.0
TP R IR (L) 3 0 0.0 0 0 0.0 3 0 0.0
PR ERAR R 3 0 0.0 0 0 0.0 3 0 0.0
SRR AL R P2 (AR AL ) 3 0 0.0 1 0 0.0 2 0 0.0
AR A5 3 0 0.0 0 0 0.0 3 0 0.0
PR o ] AR R 2 0 0.0 0 0 0.0 2 0 0.0
VO[] 7P R B P A 2 0 0.0 0 0 0.0 2 0 0.0
Lo fm ik P A 2 0 0.0 2 0 0.0 0 0 0.0
TH: B A e k2 P AR 2 0 0.0 0 0 0.0 2 0 0.0
A [ 1 3 R AL R P A 2 0 0.0 0 0 0.0 2 0 0.0
AL E R AL Y 2 0 0.0 0 0 0.0 2 0 0.0
KIR I HEAGARATI K27 (I AR AR SRR 1 0 0.0 0 0 0.0 1 0 0.0
AT AE AL P 2L 1 0 0.0 0 0 0.0 1 0 0.0
JUN BRI AT —a S 1 0 0.0 0 0 0.0 1 0 0.0
T L B FE ok o B P 2 1 0 0.0 0 0 0.0 1 0 0.0
ES[ENIS - o S RN S 0 1 0 0.0 0 0 0.0 1 0 0.0
[ BE T R T ML 1 0 0.0 0 0 0.0 1 0 0.0
NEIE 5 5 R AL B P AR 1 0 0.0 0 0 0.0 1 0 0.0
HOT O H P B AR AL R P A 1 0 0.0 0 0 0.0 1 0 0.0
SRR A1 3P 2452 (1 s B 347 1 0 0.0 0 0 0.0 1 0 0.0
[R5 1 0 0.0 0 0 0.0 1 0 0.0
S B SRR P AR 1 0 0.0 0 0 0.0 1 0 0.0
B L A L P A 1 0 0.0 0 0 0.0 1 0 0.0
=Rk o R R R AR 1 0 0.0 0 0 0.0 1 0 0.0
7= BRI R 1 0 0.0 0 0 0.0 1 0 0.0
ARG~ — N AR AL R AL 1 0 0.0 0 0 0.0 1 0 0.0
k=T L vy 1 0 0.0 0 0 0.0 1 0 0.0
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TERER| ORE | ORR | ZRER| kB AR |ZERE | akE K| AR
) —Z L & AR —V B4 1 0 0.0 0 0 0.0 1 0 0.0
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ORALFR BB —h (EFEI0RF2HFATITHE TIHFFARE)

(Hr2s ] I35 E (D6HFE4A 1B MTHEIASIBET) ICAREWET) LEEXIIHREUET)
T D RIABDE, TEEZE] (XREE (SF643A31H) FTICEE{ET) L=HETH D,

(ZBHE10ALLE)
oy W PSR B 42

TRER| WAL AR | ZREK| kB L] AR |ZRER| AREK| AR
K53 B 2R 74 74| 100.0 73 73| 100.0 1 1| 100.0
T R RE B 2K 41 41| 100.0 40 40 100.0 1 1| 100.0
U P 3 = AR 37 37| 100.0 36 36| 100.0 1 1| 100.0
RAERE B S 35 35/ 100.0 35 35 100.0 0 0 0.0
HEAR 5 =5 34 34 100.0 34 34| 100.0 0 0 0.0
Bt B2 A5 55 B 5 S AR 31 31| 100.0 30 30| 100.0 1 1| 100.0
] T A T AR 30 30[ 100.0 30 30| 100.0 0 0 0.0
e T B v S A 30 30| 100.0 30 30/ 100.0 0 0 0.0
H & 29 29 100.0 29 29 100.0 0 0 0.0
TP B i 28 28 100.0 28 28| 100.0 0 0 0.0
P B R 1 S 27 27| 100.0 27 27| 100.0 0 0 0.0
B A A 27 27 100.0 27 27 100.0 0 0 0.0
FEEF AL = AL 23 23| 100.0 23 23| 100.0 0 0 0.0
TRy T B i 5 A 23 23 100.0 23 23 100.0 0 0 0.0
R T AR 23 23| 100.0 23 23| 100.0 0 0 0.0
A2 R b s A 22 22| 100.0 22 22 100.0 0 0 0.0
FE B T8 1 5 A 19 19| 100.0 19 19| 100.0 0 0 0.0
AR AL 5 A5 AR 18 18| 100.0 17 17| 100.0 1 1| 100.0
aF T mEFEFR 17 17| 100.0 17 17| 100.0 0 0 0.0
R 2 =578 17 17| 100.0 17 17| 100.0 0 0 0.0
P L i R 17 17| 100.0 17 17| 100.0 0 0 0.0
7 3 5 A 16 16 100.0 16 16| 100.0 0 0 0.0
T RSBt ZH B/ i e B A 16 16/ 100.0 16 16| 100.0 0 0 0.0
PR BT H 15 5 AR 15 15[ 100.0 15 15| 100.0 0 0 0.0
L1320 v S AR 15 15| 100.0 15 15| 100.0 0 0 0.0
R R i 2 A% 14 14| 100.0 14 14| 100.0 0 0 0.0
ACHEIE 85 5 5 AR 14 14| 100.0 14 14| 100.0 0 0 0.0
(RS 1 R S AR 13 13| 100.0 13 13| 100.0 0 0 0.0
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